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BOOKLET A  Select the ONE best answer.

2.  Which of the following parts of the infant’s airway determines the appropriate diameter of a nasotracheal tube?


(A)  nares


(B)  glottis


(C)  vocal cords


(D)  cricoid cartilage


(E)  third tracheal ring

3.  During laser excision of vocal cord polyps in a 5-year old boy, dark smoke suddenly appears in the surgical field.  The trachea is intubated and aneshthesia is being maintained with halothane, nitrous oxide and oxygen.  The most appropriate initial step is to


(A)  change from oxygen and nitrous oxide to air


(B)  fill the oropharynx with water


(C)  instill water into the endotracheal tube


(D)  remove the endotracheal tube


(E)  ventilate with carbon dioxide

18.  A 1-month-old infant becomes hypoxemic faster during apnea than an adult.  Which of the following is the primary cause of this difference?


(A)  functional residual capacity in an infant is half that of an adult


(B)  metabolic rate in an infant is twice that of an adult


(C)  resting PaO2 in an infant is lower than that in an adult


(D)  the number of alveoli in an infant is 12% the number in an adult


(E)  the hemoglobin dissociation curve in an infant is shifted to the right

23.  An 8-kg 1 year-old boy is scheduled for a bilateral inguinal hernia repair.  If regional anesthesia is to be used for postoperative analgesia, which of the following statement is true?


(A)  Caudal administration of 0.25% bupivacaine will provide analgesia without evidence 


of motor block.


(B)  Caudal administration of 0.125% bupivacaine is as effective as caudal administration 

of 0.25% bupivacaine.


(C)  Caudal analgesia is more difficult to achieve in young children than in adults.


(D)  The recommended volume of local anesthetic used for caudal analgesia in children 


is 3 ml per year of age.


(E)  The volume of 0.25% bupivacaine required for bilateral ilioinguinal and 



iliohypogastric nerve blocks would be too large.
36.  A 2.2 kg 6 hour old neonate is to undergo gastrostomy followed by repair of a tracheoesophageal fistula.  During induction with halothane, air and oxygen, the abdomen becomes distended.  Appropriate management is:


(A)  intubate and assist spontaneous ventilation.


(B)  intubate and control ventilation.


(C)  insert an orogastric tube


(D)  allow the patient to breathe spontaneously by mask until gastrostomy.


(E)  control ventilation by mask until gastrostomy.

37.  Which of the following is an advantage of a circle system over a Mapleson D system?


(A)  better anesthetic conservation


(B)  lower dead space


(C)  lower circuit resistance


(D)   more efficient scavenging


(E)   more rapid changes in inspired gas concentration

For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. 

A(1,2,3)          B(1,3)         C(2,4)        D 4 only       E All are correct

113.  Compared with a term infant, an infant born at 32 weks gestation who receives aneshteisa at 2 months of age is at increased risk for

(1)  pulmonary oxygen toxicity


(2)  postoperative apnea


(3)  renal failure


(4)  retrolental fibroplasias

117.  The infant airway differs from that of athe adulta in which of the following ways?


(1)  The larynx is more cephalad.


(2)  The vocal cords are perpendicular to the plane of the trachea.


(3)  The cricoid cartilage is the narrowest part of the airway.


(4)  The larynx is more anterior.

120.  A 2 year old boy with tetralogy of Fallot is scheduled for repair of bilateral inguinal hernias.  True statements concerning this child include


(1)  Oxygen saturation will improve with crying.


(2)  Cyanosis will increase with use of halothane.


(3)  Resistance to pulmonary outflow will be fixed.


94)  An increased red cell mass will compensate for right –to-left shunt.

124.  Electrolyte abnormalities consistent with pyloric stenosis in a 6 week old infant include



Na+(mEq/L)
K+(mEq/L)
Cl_(mEq/L)
HCO3(mEq/L)

(1)
    145

     3.5

     108

     24


(2)
    145

     2.5

      85

     15


(3)
    160

     5.5

     120

     36


(4)
    128

     2.5

      85

     32

150.  A patient undergoing strabismus repair develops aciute bradycardia during traction on an eye muscle.  This response is


(1)  mediated by a facial nerve efferent


(2)  also manifested by ventricular ectopy


(3)  prevented by preanesthetic intramuscular administration of atropine


(4)  treated by stopping the surgical stimulus.

153.  Factors associated with post-intubation coup in children include


(1)  age less than 3 months


(2)  history of recent upper respiratory infection


(3)  use of a nasotracheal tube.


(4)  surgery of the head and neck.

159.  An anephric 12 year old patient with a large pericardial effusion is to have periocardiocentesis under general anesthesia.  Appropriate anesthetic management includes


(1)  maintenance of a high venous pressure


(2)  prevention fo tachycardia


(3)  avoidance of positive end-expiratory pressure


(4)  reduction of systemic vascular resistance

161.  During abdominal closure for gastroschisis in a 1-day-old infant, airway pressure increases and oxygen saturation decreases.  Breath sounds are bilateral and endotracheal suctioning does not improve ventilation.  After increasing FiO2, appropriate management includes


(1)  deepening volatile anesthesia.


(2)  administering additional muscle relaxant


(3)  adding positive end-expiratory pressure


(4)  foregoing priimary abdominal closure.
173.  The anesthetic recovery of a newborn infant is complicated by the slow return of neuromuscular function.  Factors that would cause this complication include


(1)  an inadequate dose of anticholinesterase.


(2)  active maternal myasthenia gravis.


(3)  a core temperature of 35oC


(4)  untraoperative administration of cefamandole.’
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3.  In children with preoperative upper respiratory tract infection, which of the following is associated with the greatest risk for postoperative airway obstruction?

(A)  Age less than 1 year


(B)  Endotracheal intubation


(C)  Head and neck surgery


(D)  Inadequate airway humidification


(e)   Surgery for more than 2 hours.

4.  An 8 kg 1 year old child has a measured blood loss of 50 ml during the first 2 hours of a rectal pull-through operation.  Preoperative hematoacrit was 31%.  Balanced saline solution, 150 ml has been administered for replacement.  Urine output has been 2 ml for the last hour, heart rate is 160 bpm, and blood pressure is 40/15.

The most appropriate fluid therapy is:


(A)  25% albumin..


(B)  balanced slat solution


(C)  balanced slat solution and mannitol


(D)  5% dextrose in 0.45% saline solution


(E)  packed red blood cells

19.  A 2500 g, 12 hour old infant in tracheally intubated and mechanically ventilated at a rate pf 20/min with an FiO2 of 0.4 and peak inspiratory pressures of 24 cm H2O.  At birth, amniotic fluid was meconium stained and Apgar scores were 2 and 7.  The most recent arterial blood gas levels are PaO2 50 mm Hg, and PaCO2  55 mmHg and pH 7.20.  The most appropriate managment is to


(A)  administer sodium bicarbonate


(B)  begin intravenous infusion of prostaglandin E

(C)  increase  FiO2 

(D)  increase ventilation


(E)  perform bronchial lavage

21.  Thirty-six hours after primary repair of meningomyelocele, a term newborn has frequent period of apnea lasting 25 seconds and associated with oxygen desaturations to 80%.  The most likely explanation is


(A)  hyperglycemia


(B)  loss of cerebrospinal fluid


(C)  obstructive hydrocephalus


(D)  residual anesthetic effect


(E)  normal postoperative events

39.  A six year old child with asthma begins wheezing during anesthesia with halothane and nitrous oxide in oxygen.  A loading dose of aminophylline is administered followed by continuous infusion.  Premature ventricular contractions appear on the ECG.  The most appropriate management is to


(A)  administer fentanyl


(B)  discontinue aminophylline


(C)  increase exhalation time


(D)  increase the inspired concentration of halothane


(E)  switch the inhalational agent to isoflurane

41.  During uncomplicated mask induction with halothane and 50% nitrous oxide in oxygen in a 6 month old infant with a large ventricular septal defect and valvular pulmonic stenosis, SpO2 decreases from 85% (room air) to 60%, heart rate is !00 bpm and blood pressure is 62/40 mm Hg.  The most appropriate management is to 


(A)  administer atropine


(B)  administer phenylephrine


(C)  administer propranolol


(D)  increase anesthetic depth


(E)  intubate the trachea

42.  Which of the following complications of caudal anesthesia with 0.25% bupivacaine is more likely in children than in adults?


(A)  intravascular injection


(B)  neurotoxicity


(C)  profound motor block


(D)  systemic toxicity


(E)  total spinal block

50.  During halothane anesthesia with spontaneous ventilation, the most reliable sign of malignant hyperthermia is


(A)  hypertension


(B)  increased temperature


(C)  increased minute ventilation


(D)  muscle rigidity


(E)  tachycardia

53.  During insertion of a Harrington rod with deliberate hypotension for correction of spinal scoliosis, accurate interpretation of somatosensory evoked potentials requires


(A)  core temperature greater than 35oC


(B)  hematocrit of at least 25%


(C)  mean arterial pressure greater than 70 mm Hg


(D)  PO2 of at lest 80 mm Hg


(e)   reversal of neuromuscular blockade

57.  Which of the  following is most hazardous in premature infants?

(A)  hematocrit of 55%


(B)  rectal temperature of 35oC


(C)  umbilical arterial blood PO2 50 mm Hg


(D)  umbilical arterial blood  PCO2 45  mm Hg


(E)  umbilical arterial systolic pressure of 60 mm Hg

83.  Acute epiglottitis usually


(A)  requires a lateral radiograph of the neck for diagnosis


(B)  occurs in children 2 to 4 years of age


(C)  is treated effectively with racemic epinephrine


(D)  has a viral etiology


(E)  requires immediate awake intubation by direct laryngoscopy in the emergency 



department

